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( ¢ )177 During preflight in cold weather, crankcase breather lines should receive
special attention because they are susceptible to being clogged by
(A)congealed oil from the crankcase (B)moisture from the outside air which has
frozen (C)ice from crankcase vapors that have condensed and subsequently frozen

B4eA2 500013111 g0 2 &0
(B )178 An aircraft 60 miles from a VOR station has a CDI indication of one-fifth

deflection, this represents a course centerline deviation of approximately
(A)6 miles (B)2 miles (C)1 miles

B 4-3250:0013112 4220 2% A .7
( A )179 What is the maximum bearing error (+ or -) allowed for an operational VOR

equipment check when using an FAA-approved ground test signal?
(A)4 degrees (B)6 degrees (C)8 degrees

R4o82%50:0013113 f5%2:0 2% &7
( ¢ )180 An ATC transponder is not to be used unless it has been tested, inspected, and
found to comply with regulations within the preceding
(A)30 days (B)12 calendar months (C)24 calendar months
4o 4855:0013114 fg2e:0 2 b & ¥
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( ¢ )181 What is an operational difference between the turn coordinator and the
turn-and-slip indicator? The turn coordinator
(A)is always electric; the turn-and-slip indicator is always vacuum—driven
(B)indicates bank angle only; the turn-and-slip indicator indicates rate of turn
and coordination (C)indicates roll rate, rate of turn, and coordination; the
turn-and-slip indicator indicates rate of turn and coordination

Jode A2 50013115 A0 s & ¥
( ¢ )182 The maximum cumulative time that an emergency locator transmitter may be operated

before the rechargeable battery must be recharged is
(A)30 minutes (B)45 minutes (C)60 minutes

4o %855:0013116 42220 ¥k R ¥
( ¢ )18 When must an operational check on the aircraft VOR equipment be accomplished
to operate under IFR? Within the preceding
(A)30 days or 30 hours of flight time (B)10 days or 10 hours of flight time (C)30
days

4o %85L:0013117 42220 ¥ b R ¥
( B )184 Which data must be recorded in the aircraft logbook or other record by a pilot
making a VOR operational check for IFR operations?
(A)VOR name or identification, place of operational check, amount of bearing
error, and date of check (B)Date of check, place of operational check, bearing
error, and signature (C)VOR name or identification, amount of bearing error,
date of check, and signature

4o %855:0013118 42220 2% & ¥
( ¢ )18 If an airplane category is listed as utility, it would mean that this airplane
could be operated in which of the following maneuvers?
(A)Limited acrobatics, excluding spins (B)Any maneuver except acrobatics or
spins (C)Limited acrobatics, including spins (if approved)

R4s82%0:0013119 fe:0 2% &7
( B )186 Which is true concerning required maintenance inspections?
(A)A 100-hour inspection may be substituted for an annual inspection (B)An annual
inspection may be substituted for a 100-hour inspection (C)An annual inspection
1s required even if a progressive inspection system has been approved

4e4855:0013120 4220 ¥k R ¥
( B )187 After an annual inspection has been completed and the aircraft has been returned
to service, an appropriate notation should be made
(A)on the airworthiness certificate (B)in the aircraft maintenance records (C)in
the FAA-approved flight manual

B 4-3850:0013121 40 2% &7
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( A )188 A standard airworthiness certificate remains in effect as long as the aircraft
receives
(AMrequired maintenance and inspections (B)an annual inspection (C)an annual
inspection and a 100-hour inspection prior to their expiration dates

4o %855:0013122 4.0 ¥k R ¥
( ¢ )18 Aircraft maintenance records must include the current status of the
(Mapplicable airworthiness certificate (B)life-limited parts of only the
engine and airframe (C)life-limited parts of each airframe, engine, propeller,
rotor, and appliance

4o d8%.:0013123 %5 %:0 55 B 7
( B )190 Which is correct concerning preventive maintenance, when accomplished by a
pilot?
(A)A record of preventive maintenance is not required (B)A record of preventive
maintenance must be entered in the maintenance records (C)Records of preventive
maintenance must be entered in the FAA-approved flight

f4e82%.:0013124 A5 w0 2% B %
( B )191 The emergency lights on a passenger-carrying airplane must be armed or turned
on during
(A)taxing, takeoff, cruise, and landing. (B)taxing, takeoff, and landing.
(C)taxing, cruise, and landing.

4o 82%0:0013125 A0 2% B %
( A )192 If a passenger-carring landplane is required to have an automatic deploying
escape slide system, when must this system be armed?
(A)For taxi, takeoff, and landing. (B)Only for takeoff,and landing. (C)During
taxi, takeoff, landing, and after ditching.

R4e48%.:0013126 3520 2% B %

( B )193 When may two persons share one approved safety belt in a lounge seat?
(A)When one is an adult and one is a child under 3 years of age. (B)Only during
the en route flight. (C)During all operations except the takeoff and landing
portion of a flight.

R4 48%.:0013127 %520 2% B %

( A )194 How will the airspeed indicator react if the ram air input to the pitot head
1s blocked by ice, but the drain hole and static port are not?
(A)Indication will drop to zero. (B)Indication will rise to the top of the scale.
(C)Indication will remain constant but will increase in a climb.

B4 A8 50:0013128 A0 s 20 5

18



( A )19 What can a pilot expect if the pitot system ram air input and drain hole are
blocked by ice?
(A)The airspeed indicator may act as an altimeter. (B)The airspeed indicator
will show a decrease with an increase in altitude. (C)No airspeed indicator
change will occur during climbs and descents.

B 4eR8%0:0013129 Ag e 0 5% & 5
( ¢ )196 What should the deice/anti-ice fluid temperature be during the last step of a

two-phase process?
(AM)Hot. (B)Warm. (C)Cold.

R4e48%.:0013130 %220 2% B %
( ¢ )197 Which is a disadvantage of the one-step over the two-step process when
deicing/anti-icing an airplane?
(A)It is more complicated. (B)The holding time is increased. (C)More fluid is
used with the one-step method when large deposits of ice and snow must be flushed
off airplane surfaces.

f4e42%0:0013131 A0 2% B %
(B )198 Snow on top of deicing or anti-icing fluid
(A)need not be considered as adhering to the aircraft. (B)must be considered
as adhering to the aircraft. (C)must be considered as adhering to the aircraft,
but a safe takeoff can be made as it will blow off.

o 4o82%.:0013132 A0 2% B %
(C )199 Anti-icing fluid should provide freezing point protection to
(A)( -20 F ambient temperature. (B)( +32 F outside temperature or below. (C)a
freezing point no greater than 20F below the ambient or airplane surface
temperature.

438500013133 2w .0 ¥ % & 4
( B )200 The practice developed and accepted by the North American air carrier industry
using traditional North American fluid is to ensure that the freeze point of

the remaining film is below ambient temperature by at least
(A)(10 F. (B)(20 F. (C)(20 C.

f4e82%0:0013134 2520 ¥gp% B %
( ¢ )201 What is the effect of Freezing Point Depressant (FPD) fluid residue on engine
fan or compressor blades?
(A)It could cause FPD vapors to enter the aircraft but would have no effect on
engine thrust or power. (B)It can increase performance and cause stall or surges.
(C)It can reduce engine performance and cause surging and/or compressor stall.

B4eA250:0013135 A0 s’ &0 %
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( B )202 Freezing Point Depressant (FPD) fluid used for deicing
(M)provide ice protection during flight. (B)are intended to provide ice
protection on the ground only. (C)on the ground, cause no performance degradation
during takeoff.

B4 48%55:0013136 4220 ¥4 R %
( ¢ )203 The adverse effect of ice, snow, or frost on aircraft performance and flight
characteristics include decreased 1ift and
(A)increase thrust. (B)a decreased stall speed. (C)an increased stall speed.

Fo 4 A8 500013137 A0 3% R 5
( A )204 Which is an effect of ice, snow, or frost formation on an airplane?

(A)Increased stall speed. (B)Increased pitchdown tendencies. (C)No airspeed
indicator change will occur during climbs and descents.

B 4-3850:0013138 420 sp% A& %
( ¢ )205 Which is an effect of ice, snow, or frost formation on an airplane?

(A)Decreased stall speed. (B)Decreased pitchup tendencies. (C)Decreased angle
of attack for stall.

f4e88%.:0013139 220 ¥p% B %
(¢ )206 What effect, if any, landing at a higher-than-recommended touchdown speed have
on hydroplaning?
(A)No effect on hydroplaning, but increases landing roll. (B)Reduces
hydroplaning potential if heavy braking is applied. (C)Increases hydroplaning
potential regardless of braking.

f4o88%0:0013140 2520 2% B %
( ¢ )207 What is the best method of speed reduction if hydroplaning is experienced on
landing?
(A)Apply full main wheel braking only. (B)Apply nosewheel and main wheel braking
alternately and abruptly. (C)Apply aerodynamic braking to the fullest advantage.

38500013141 25w .0 % B 4
(¢ )208 At what minimum speed will dynamic hydroplaning begin if a tire has an air

pressure of 70 PSI?
(A)85 knots. (B)80 knots. (C)75 knots.

38500013142 w0 % B %
( B )209 At what minimum speed (rounded off) could dynamic hydroplaning occur on main

tires having a pressure of 121 PSI?
(A)90 knots. (B)96 knots. (C)110 knots.

B4 A8 50:0013143 20 5% 20 5
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( B )210 How should reverse thrust propellers be used during landing for maximum
effectiveness in stopping?
(A)Gradually increase reverse power to maximum as rollout speed decreases.
(B)Use maximum reverse power as soon as possible after touchdown. (C)Select
reverse-pitch after landing and use idle power setting of the engines.

4o 4855:0013144 4220 ¥4 R %
( A )21l How should thrust reversers be applied to reduce landing distance for turbojet
aircraft?
(A)Immediately after ground contact. (B)Immediately prior to touchdown.
(C)After applying maximum wheel braking.

B 4o 4855:0013145 4820 ¥4 R %
( B )212 Minimum specific fuel consumption of the turboprop engine is normally available
in which altitude range?
(A)10, 000 feet to 25,000 feet. (B)25,000 feet to the Tropopause. (C)The
Tropopause to 45, 000 feet.

o 4e%855:0013146 4220 ¥ % R %
( B )213 Equivalent shaft horsepower (ESHP) of a turboprop engine is a measure of
(A)turbine inlet temperature. (B)shaft horsepower and jet thrust. (C)propeller
thrust only.

F4e4855:0013147 f2e .0 ¥ 5 R 2
( B )214 The most important restriction to the operation of turbojet or turboprop engines
18
(A)limiting compressor speed. (B)limiting exhaust gas temperature. (C)limiting
torque.

4o 82%.:0013148 A2 .0 2% B %
( ¢ )215 As outside air pressure decreases, thrust output will
(A)increase due to greater efficiency of jet aircraft in thin air. (B)remain
the same since compressor of inlet air will compensate for any decrease in air
pressure. (C)decrease due to higher density altitude.

438500013149 25w .0 % B 4
( ¢ )216 Which place in the turbojet engine is subjected to the highest temperature?
(A)Compressor discharge. (B)Fuel spray nozzles. (C)Turbine inlet.

B4e48%.:0013150 2520 2% B : %
( A )217 If both the ram air input and drain hole of the pitot system are blocked by ice,
what airspeed indication can be expected?
(A)No variation of indicated airspeed in level flight if large power changes
are made. (B)Decrease of indicated airspeed during a climb. (C)Constant
indicated airspeed during descent.

B4eA250:0013151 A0 2% & %
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( b )218 How long shall a supplemental air carrier or commercial operator retain a record
of the manifest, airworthiness release, pilot route certification, flight
release, and flight plan?

(A1 month. (B)3 months. (C)12 months.

4o 48%.:0013152 %520 ¥p% B %
( A )219 A cockpit voice recorder must be operated
(A)from the start of the before starting engine checklist to completion of final
checklist upon termination of flight. (B)from the start of the before starting
engine checklist to completion of checklist prior to engine shutdown. (C)when
starting to taxi for takeoff to the engine shutdown checklist after termination
of the flight.

f4e88%.:0013153 250 ¥k B %
( ¢ )220 Information obtained from flight data and cockpit voice recorders shall be used
only for determining
(A)who has responsible for any accident or incident. (B)evidence for use in civil
penalty or certificate action. (C)possible causes of accidents or incidents.

f4e82%.:0013154 A5 w0 2% B %
( ¢ )221 Who is directly responsible for determining the status of each mechanical
irregularity previously entered in the aircraft maintenance log?
(AM)Aircraft dispatcher. (B)Line maintenance supervisor. (C)The next pilot in
command.

F4o82%.:00131550 A0 2% B %
( A )222 Who is responsible for submitting a mechanical reliability report?
(A)Each certificate holder. (B)Director of maintenance at the facility that
discovers the reportable condition. (C)Chief inspector at the facility where
the condition is found.

R4e48%.:0013156 %520 2% B %
( B )223 What effect does high relative humidity have upon the maximum power output of
modern aircraft engines?
(A)Neither turbojet nor reciprocating engines are affected. (B)Reciprocating
engines will experience a significant loss of BHP. (C)Turbojet engines will
experience a significant loss of thrust.

R4o88%5.:0013157 fe .0 % B ¥
( A )224 The propeller governor controls
(A) oil to and from the pitch changing mechanism. (B) spring tension of the boost
pump speeder spring. (C) movement in and out of the linkage and counterweights.

Ff4o88%.:0013158 %5 e:0 % B ¥
( A )225 Which operational force creates the greatest stress on a propeller?
(A)Centrifugal. (B)Torque bending. (C)Aerodynamic twisting.
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B b 88%5:0013109 420 ¥ 5 & . 7
( B )226 The force which tries to increase propeller blade angle is
(A)torque bending. (B)aerodynamic twisting. (C) centrifugal twisting moment.

F4ek8%55:0013160 422 0 ¥ 5 B¢
( B )227 The force which tries to feather the propeller blade is
(A)torque bending. (B)aerodynamic twisting. (C) centrifugal twisting moment.

4o 88%.:0013161 %% :0 % B ;7
( B )228 Increasing the throttle setting in cruise flight will result in
(A)a decrease in blade angle. (B) an increase in blade angle. (C) an increase
in propeller RPM.

F4e%855:0013162 4.0 ¥k R ¥
( ¢ )229 The purpose of the propeller synchrophase system is to set
(A) all propellers at exactly the same RPM. (B)the propeller blade angles for
all propellers in the same relative position. (C) the angular difference in the
plane of rotation between the blades of the slave engines and the blades of the
master.

F4o82%.:0013163 de:0 % B ¥
( ¢ )230 The total piston displacement of a reciprocating engine is the
(AMrelationship of horsepower output per cubic inch of cylinder volume. (B)
volume displaced by one piston during one revolution of the crankshaft. (C)volume
displaced by the sum total of all pistons during one revolution of the crankshaft.

f4o42%.:0013164 35 &0 % B ¥
( ¢ )231 Which of the following situations will most likely cause the engine to backfire
through the induction system when operated at low RPM?
(A)A clogged air inlet. (B)The idle speed set too low. (C)An excessively lean
mixture setting.

o 4e4855:0013160 fE ke 0 ¥ b R ¥
( ¢ )232 The purpose of the oil cooler bypass valve is to
(A)bypass the oil cooler when there is a blockage. (B) control and limit the
lubricating oil pressure. (C) control the flow of oil to the oil cooler according
to the temperature and viscosity of the oil.

4o 88%2:0013166 3+ :0 % B ;¥
(A )23 The first step to correct preignition is to
(A) retard the throttle. (B)increase the mixture. (C) decrease the mixture.

B 442 50:0013167 w0 s Ao
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(A )234 If an attempt is made to start an engine with a hydraulic lock,
(A) a connecting rod can bend or break if the crankshaft continues to rotate.
(B) the starter gearbox can overtorque since the liquid is incompressible and
stops piston movement. (C) the fuel or oil from the lower cylinders can be
injected into the exhaust system causing afterfiring.

FheB25:0013168 220 ¥ 5 & ¢
( ¢ )23 Alcohol is added to the fluid in a water injection system to
(A) increase the octane. (B)provide greater cooling. (C) prevent freezing of
the water.

f4o48%.:0013169 %% .0 % B ¥
( ¢ )23 What may cause engine detonation?
(A)High octane fuel. (B)Low manifold pressure. (C)High intake air temperatures.

4o %855:0013170 4.0 ¥k R ¥
( B )237 One purpose of a fuel tank boost pump is to
(A)provide pressure for injection carburetors. (B)prevent vapor lock caused by
high temperature. (C) prevent vapor lock caused by high atmospheric pressure.

4o d8%5.:0013171 %220 % B ;¥
( A )238 The purpose of water injection is to
(A) suppress detonation. (B)increase fuel economy. (C) prevent carburetor ice.

B b B85:0013172 2.0 ¥ 5 &2 7
( B )239 Which is an indication of carburetor ice?
(A) Decrease in propeller RPM. (B) Manifold pressure (MAP) drop. (C)Backfiring,
which is caused by a rich mixture.

4o 4855:0013173 4.0 ¥k R ¥
( B )240 What type of icing is most likely to occur with a pressure-injected carburetor?
(A) Fuel. (B) Induction. (C)Evaporative.

R4o88%5.:0013174 s e:0 % B ¥
( ¢ )241 How does a photoelectric smoke detector operate?
(A)A photoelectric smoke detector only warns when smoke is present. (B)A
photoelectric smoke detector measures the amount of smoke under a specific set
of conditions. (C) A photoelectric smoke detector measures the amount of light
available under a specific set of conditions.

B 4-3850: 0013175 40 2% & .7
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( ¢ )242 What is the effect on the fuel/air mixture when flying from a cold to a warm
area at a constant altitude without automatic mixture control?
(A) The engine is not capable of producing as much power due to the increase
in air density. (B)The engine is capable of producing more power due to a greater
volume of air which is available due to heat expansion. (C)The engine is not
capable of producing as much power due to a decrease in air density which causes
a richer mixture.

4o %8%.:0013176 %2 e .0 5 B ¥
( A )243 How 1s engine power output affected by the application of carburetor heat?

(A)Volumetric efficiency is reduced. (B)Mixture is leaned and power is decreased
(C)Weight of the fuel/air mixture is increased.

4o %855: 0013177 4.0 ¥k R ¥
( A )244 The purpose of shutting an engine down with the mixture control at the end of
the flight is to
(AM)prevent an accidental start. (B) preclude liquid lock during subsequent
starts. (C)assure that there is no fuel in the intake system that could result
in a fire.

f4o82%50:0013178 fp w0 5 B¢
( B )245 What type of oxygen system is used for passengers?
(A) Demand. (B)Constant-flow. (C) Diluter-demand.

B 4-3850: 0013179 420 2% R .7

( ¢ )246 Which type of oxygen system is the flight deck equipped with normally?
(A) Constant-flow. (B)Phase dilution. (C)Diluter-demand.

F 4o %855:0013180 4g 2.0 ¥k R ¥

( B )247 One of the main gear tires has deflated as a result of a thermal fuse melt. What
does this mean?
(A) Heavy braking has overheated the wheel, melted a plastic fuse in the rim,
and prevented the danger of a tire blowout. (B) High tire temperatures have melted
a fusible metal plug installed in the aircraft wheel and caused the tire to
deflate. (C)High temperatures in the wheel well have caused the tire’s
temperature sensitive valve core tomelt, deflated the tire, and prevented damage
to the wing.

f4o82%5.:0013181 s .0 % &7
( ¢ )248 Which is a reason for heating cockpit windows?
(A) Deicing. (B)Prevent thermal shock. (C)Bird-impact protection.
o 4e%855:0013182 4.0 ¥k R ¥
( B )249 The purpose of the antiskid system control box is to

(A) sense wheel speed change. (B)prevent landing with the brakes applied.
(C)meter the brake pressure to prevent stoppage of wheel rotation.

B 4e4250:0013183 Ag w0 2 s &0
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( A )250 Pressure from an engine-driven hydraulic pump may be regulated by a
(A) system bypass valve. (B)constant speed drive. (C)in-line variable restrictor
orifice.

f4o88%.:0013184 %% :0 % B ;7
( B )251 One purpose of a hydraulic accumulator is to
(A) compress hydraulic fluid. (B)absorb sudden pressure surges. (C) store
hydraulic fluid from small system leaks.

o 4e%855:0013185 4.0 ¥ b R ¥
( ¢ )252 Which statement is correct when applying liquid rain repellent?
(A) Begin application as soon as rain begins, to form a barrier between the rain
and the windshield. (B) Apply rain repellent first, then activate the windshield
wipers to spread the repellent. (C)The number of times the repellent is applied
1s determined by the intensity of the rain.

F4e%8%55:0013186 4E e .0 ¥k R ¥
( ¢ )253 Why should synthetic hydraulic fluid be stored in an airtight container?
(A)High evaporation rate. (B)Vapor is extremely toxic. (C) Atmospheric moisture
contamination.

4o %855:0013187 4.0 ¥k R ¥
(B )254 In a pressurized system, what is the purpose of the dump valve?
(A) Relieve a negative pressure differential. (B) Relieve all positive pressure
from the cabin. (C) Relieve any pressure in excess of maximum cabin differential.

F4ek855:0013188 4g e 0 ¥k B¢
( B )255 The cabin pressure control setting has a direct effect upon the
(A) compressor speed. (B)outflow valve opening. (C) pneumatic system pressure.

o 4e4855:0013189 {0 ¥k R ¥
( B )256 How 1s cabin pressurization controlled?
(A) The pressure valve regulates the air output of the compressor. (B) The outflow
valve dumps all air pressure in excess of the amount for which it is set. (C)The
inflow valve limits the amount of air to the cabin when a pressure equivalent
to cabin altitude has been reached.

f4o42%0:0013190 s .0 % B ¥
( A )257 Which component of an air-cycle cooling system undergoes a pressure and
temperature drop of air during operation?
(A)Expansion turbine. (B) Primary heat exchanger. (C)Refrigeration bypass
valve.

B 4-3250:0013191 40 2% & .7
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( ¢ )258 Which components make up the basic air-cycle cooling system?
(MHeaters, coolers, and compressor. (B)Ram air source, compressors, and engine
bleeds. (C)A source of compressed air, heat exchangers, and a turbine.

F4o88%.:0013192 42w :0 55 B ;7
( B )259 Which cabin air-conditioning system utilizes a refrigerant to carry away cabin
heat?
(A)Air cycle (B)Vapor cycle. (C) Evaporative blower.

F4o82%0:0013193 fpe:0 2% B ¥
( A )260 Which control systems for operating cabin pressurization use reference chamber
air pressure within the controller to regulate the outflow valve?
(A) Isobaric and differential. (B)Unpressurized and pressurized controls.
(C)Ambient, differential, and maximum differential.

f4o82%.:0013194 s .0 2% B ¥
( B )261 What type of electrolyte is contained in a lead-acid battery?
(A)Boric acid. (B)Sulfuric acid. (C)Potassium hydroxide.

B 4-3850:0013195 420 2% R .7
( B )262 What are the characteristics of the electrolyte in a nickel-cadmium battery?

(A)Noncorrosive. (B)Much like household lye and will cause severe burns.
(C)Harmless compared to the electrolyte in a lead-acid battery.

B 4-38%50:0013196 4220 2% R .7
( ¢ )263 What will neutralize the electrolyte from a nickel-cadmium battery?

(A)Soap and water. (B)Bicarbonate of soda. (C)A solution of boric acid, vinegar,
lemon juice, or some other mildly acid solution.

f4o42%5.:0013197 s &0 % B ¥
( ¢ )264 What is the purpose of a fuse-type current limiter?
(A) Prevent overloads in low power circuits. (B)Fast blow design prevents damage
to sensitive circuits or equipment. (C)Permit short periods of overload before
the fuse link melts and breaks the circuit.

B b 82850:0013198 2220 ¥ 5 & ¢
( ¢ )265 What is a purpose of enclosing wires or electrical units in metal?
(A) Eliminates ground wires. (B)Prevents the buildup of static discharges.
(C)Eliminates interference with radio reception.

4o 4855:0013199 fp e .0 ¥k R ¥
(C )266 What 1s residual voltage?
(A)Voltage produced that is not in phase with the current. (B)Voltage stored
in the generator exciter output windings. (C)Voltage produced by permanent
magnets which starts the ac generator output.

B 4-38%50:0013200 4220 2% R .7
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(B )267 What is the difference between a relay and a solenoid?
(A)Relays have movable cores. (B) Solenoids have movable cores. (C)Relays are
used as mechanical control devices.

4o 88%.:0013201 %2 %:0 % B ;7
( ¢ )268 What is an advantage of using 115 volts, 400-Hz alternating current?
(A)The AC voltage may be changed easily by the use of rectifiers which reduces
wire size and weight. (B) Inductive reactance at high frequency increases current
and more efficient power transmission. (C)High-voltage AC motors are smaller
and lighter than equivalent DC-powered motors.

o 4e%855:0013202 4.0 ¥k R ¥
(B )269 Why is 1t important that all electrical loads and power sources be turned off
before connecting or disconnecting the battery?
(A)To prevent discharging the battery. (B)To prevent a spark from igniting
explosive gas. (C) To prevent power surges from spiking sensitive equipment.

F4e82%.:0013203 s 0 2% B ¥
( B )270 What is the function of the circuit breaker in the instrument lighting system?
(A)Protects the lights from too much current. (B)Protects the wiring from too
much current. (C)Prevents excessive voltage from reaching the wiring.

f4o42%.:0013204 35w .0 % B ¥
( A )27l Which are protective functions of an ac generator control unit?
(A)Open phase, underexcitation, and overvoltage. (B)Undervoltage, differential
fault, and manual paralleling. (C)Generator underspeed and bus-tie
circuit-breaker automatic closing.

F4o82%.:0013200 s w0 25 B ¥
( B )272 Which is a feature of a parallel bus electrical system?
(A) External power may be paralleled with operating generators. (B) The
electrical load is automatically redistributed when one generator fails. (C)
Each generator supplies power separately from the other generators to its
respective bus.

o 4e4255:0013206 4220 ¥k R ¥
(B )27 Why is it necessary to periodically completely discharge and recharge a
nickel-cadmium battery?
(A)To restore electrolyte levels. (B)To eliminate cell imbalance and loss of
capacity. (C)To dissolve nickel oxide formations on positive cells to restore
capacity.

B b 825:0013207 20 ¥ 5 B 7
( ¢ )274 What causes cell imbalance in a nickel-cadmium battery?
(A)Low temperatures. (B) Deep rapid discharges. (C) Constant-potential (voltage
charging.
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F4o48%.:0013208 %2 e:0 % B ¥
( ¢ )275 The purpose of a constant speed drive for an ac generator is to

(Mcontrol field strength. (B)regulate generator voltage. (C)maintain a uniform
frequency.

o 4e%255:0013209 4.0 ¥k R ¥
( B )276 What is a purpose of a rotary inverter?
(A) Change 115 volts ac to 28 volts dc. (B) Convert dc to 115 volts, 400-Hz power.
(C) Transform 26/29 volts dc to 115/200 volts dc.

4o 88%2:0013210 %2 %:0 % B ;7
( ¢ )277. Where should the chines be located for a dual nosewheel installation?
(A)One on each side of the tires. (B)On the inside of the tires only. (C)On the
outside of the tires only.

4o %855:0013211 4.0 ¥k R ¥
( ¢ )278 The purpose of chines on tires is to
(A) increase traction on snow or ice covered runways. (B)reduce the tendency
to hydroplane on wet runways. (C) deflect water or slush away from the engine
intakes.

4o 88%2:0013212 %52:0 % B ;7
( A )27 A purpose of wing mounted vortex generators is to
(A)prevent shock induced separation of air from the wing. (B)increase the onset
of drag divergence and aid in aileron effectiveness at high speed. (C) break
the airflow over the wing so the stall will progress from the root out to the
tip of the wing.

B b B85:0013213 220 ¥ 5 &2 7
( A )280 What is a disadvantage of wing mounted vortex generators?
(A)Drag is increased slightly at slow airspeeds. (B)Parasite drag increases
significantly at high airspeeds. (C)Shock induced flow separation from vortex
generators increases control surface buffet.

R4s88%0:0013214 35e:0 % B ¥
( A )28l What is a disadvantage of a stabilizer and elevator located at the top of the
vertical fin?
(MHeavier structure. (B) Undesirable spin characteristics. (C)Less effective
fin and rudder due to the end plate action of the stabilizer location.

B 4-3850:0013215 40 2% A .7
( B )282 An advantage of Skydrol is that it

(A)is resistant to water contamination. (B) has a wide operating temperature
range. (C) is compatible with vegetable-base hydraulic fluid.

B 442 50:0013216 Age:0 #ph &
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( ¢ )283 A disadvantage of Skydrol is that
(A) it is incompatible with synthetic-base fluid. (B)sustained operations below
-40°C should be avoided. (C) it will break down the insulation on some electrical
wiring.

4o d8%.:0013217 %2 &:0 5 B 7
( A )284 The purpose of a bypass valve in the hydraulic filter is to
(A) bypass a clogged element. (B)maintain the desired temperature and viscosity
by controlling the amount of fluid through the unit. (C) ensure adequate flow
when the engines are started until the fluid is warmed sufficiently to flow
freely.

o 4e%855:0013218 4.0 ¥k R ¥
( A )28 The purpose of a hydraulic accumulator is to
(A)store hydraulic fluid under pressure. (B)collect hydraulic fluid from system
leaks. (C) gather foam and extract the air before returning it to the reservoir.

f4e82%.:0013219 fe:0 2% B ¥
( A )286 An advantage of a piston-type accumulator is that it
(A)takes up less area than a sphere-type accumulator. (B) may be used with higher
pressure than a bladder-type accumulator. (C)can store more hydraulic fluid than
a diaphragm-type accumulator.

F4e%8%55:0013220 4220 ¥ b R ¥
( ¢ )287 What is the difference between a hydraulic sequence valve and a priority valve?
(A) Sequence valves are electrically actuated. (B) Mechanical contact opens a
priority valve. (C)Priority valves are opened by hydraulic pressure.

4o k855:0013221 4220 ¥ 5 B¢
( A )28 Which principle operates a hydraulic fuse?
(A)Quantity of flow. (B)Thermal increase. (C)Pressure increase.

4 4855:0013222 fp .0 ¥ b R ¥
( B )289 How may pressure from an engine-driven hydraulic pump be regulated?

(A)Constant speed drive. (B)Variable-displacement pump. (C) In-line variable
restrictor orifice.

R4o88%0:0013223 s .0 % B ¥
( B )290 Which hydraulic operation normally uses a double-acting, unbalanced linear
actuator?
(A) Brakes. (B)Landing gear. (C)Automatic pilot servo.

o 4e4855:0013224 fpie .0 ¥ b B¢
( ¢ )291 Which hydraulic operation normally uses a double-acting, balanced linear
actuator?
(A)Brakes. (B)Landing gear. (C) Automatic pilot servo.
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o 4e4855:0013220 4.0 ¥k R ¥
( A )292 If the line between the manifold pressure gauge and the engine induction system
1s broken, the gauge will indicate
(A) ambient pressure. (B) standard atmospheric pressure. (C) high when operating
at a manifold pressure above atmospheric pressure.

4o %855:0013226 420 ¥k R ¥
( ¢ )293 Which 1is a feature of the propeller feathering system?
(A)Throttle levers may be in any position for the autofeather system to operate.
(B)Retarding a throttle to idle on takeoff will cause the autofeather system
to operate. (C)Propeller blades are held in the full feather position by
aerodynamic forces.

R4e88%0:0013227 dp w0 5 B ¥
( C )294 What initial action is taken to unfeather a Hamilton-Standard Hydromatic
propeller?
(A) Place the aircraft in a shallow dive to start the propeller windmilling.
(B)Turn the autofeather system off and place the propeller lever to the full
forward position. (C)Hold the feather button in until the propeller starts
windmilling, then release for restart.

F4o82%0:0013228 de:0 % B ¥
( B )29 What is indicated during engine shutdown when the tachometer does not increase?

(A) Idle mixture is correct. (B) Idle mixture is too lean. (C) Idle mixture is
too rich.

B 4-3850:0013229 420 2% R .7

( ¢ )296 What does an increase of approximately 125 propeller RPM indicate during
shutdown?
(A) Idle mixture is correct. (B) Idle mixture is too lean. (C) Idle mixture is
too rich.

B4 4250:0013230 g0 #h A0

( B )297 The primary purpose for utilizing boost pumps in the fuel system is to
(A) prevent unporting of fuel on takeoff. (B) provide a positive fuel flow to
the engine pump. (C) provide fuel transfer between tanks to prevent fuel
imbalance.

385500013231 w0 #p% B 4
( ¢ )298 When should manual fuel heaters normally be operated?

(A) During takeoff, approach, or go-around. (B)When ambient temperatures are
below +32°F. (C)When the fuel temperature approaches +32°F.

B4 A8 50:0013232 A0 ¥ 20 5
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(A )299 What is the event sequence for the continuous combustion cycle of a turbine
engine?
(A) Intake, compression, combustion, and exhaust. (B)Intake, pressure,
combustion, and acceleration. (C)Compression, ignition, fuel, expansion and
thrust.

B A850:0013233 4500 2% R0 5
(B )300 In a dual axial-flow compressor system the first stage turbine drives the
(AN(1) compressor. (B)N(2) compressor. (C)N(1) and N(2) compressors.

B4 4855:0013234 4220 ¥4 R %
( B )30l During engine start, closing of the start air valve may be verified by
(A) engine RPM stabilizing at idle. (B) air manifold pressure increasing slightly
(C)air manifold pressure decreasing slightly.

4o 48%.:0013230 220 ¥k B %
( A )302 The speed (RPM or percent) of the low pressure compressor of a dual compressor
engine is referred to as

(A) N(1). (BIN(2). (CON(3).

B 4o AT 0013236 A0 ¥ 2 B : 2

( ¢ )303 Dirty compressor blades may result in
(A)low RPM. (B)low EGT. (C)high EGT.

R4 88%0:0013237 A0 ¥k B %
( B )304 What is the proper start sequence for a turbine engine?
(A) Ignition, starter, then fuel. (B)Starter, ignition, then fuel. (C)Starter,
fuel, then ignition.

F 4 %855:0013238 4.0 ¥ R %
( B )305 Which temperature indicator, without applying a correction factor, predicates
operation of in-flight engine anti-icing?
(A)Ram air temperature (RAT). (B)Total air temperature (TAT). (C) Outside air
temperature (OAT).

f4e88%0:0013239 A0 ¥k B %
( B )306 When may rain repellent be applied to a windshield?

(A) Prior to entering rain. (B) After it starts raining. (C)Whenever the
windshield is dirty.

B 3850:0013240 4500 2% R0 5
( ¢ )307 What should the deice/anti-ice fluid temperature be during the last step of a

two-phase process?
(MHot. (B)Warm. (C)Cold.

R4e48%.:0013241 25w .0 2% B %
( B )308 What should the temperature be for deicing fluid dispensed by a ground unit?
(A) Cold. (B)Heated. (C) Ambient.
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4o d8%.:0013242 25w .0 2% B %
( ¢ )309 A turbojet aircraft is equipped with heated inlet ducts and airfoil leading edges
When is this type of anti-icing system usually activated during flight?
(A) It is operated continuously while in flight. (B)At all times when the OAT
is below freezing. (C)Whenever icing conditions are first encountered or are
expected to occur.

R4 48%.:0013243 2520 2% B %
( ¢ )310 When the cabin pressure regulator is operating in the differential mode,
reference pressure is vented to the atmosphere by the
(Mrelief valve. (B) isobaric metering valve. (C)differential metering valve.

R4 48%.:0013244 25w :0 ¥k B %
( B ) 311 Which component of an airplane pressurization system prevents the cabin altitude
from becoming higher than the airplane altitude?
(A)Cabin rate of descent control. (B)Negative pressure relief valve. (C)
Compression ratio limit switch.

4o 88%.:0013245 25w .0 ¥k B %
( B )312 If the cabin rate of climb is too great, how should the pressurization controls
be adjusted?

(A)Open the outflow valve slower. (B)Close the outflow valve faster. (C)Increase
the amount of incoming air.

o 4o82%.:0013246 A w0 2% B %
( A )313 Which best describes cabin differential pressure?
(A) The difference between ambient and internal air pressure. (B)The difference
between the cabin flight altitude pressure and MSL pressure. (C)The difference
between the cabin pressure controller setting and the actual cabin pressure.

R4e8850:0013247 A w0 ¥k B %
( ¢ )314 Which component gives an indication of the rate of change in cabin altitude and
what unit of measurement is used?
(A)Pressure controller, PSI. (B)Cabin vertical-velocity indicator, PSI.
(C)Cabin vertical-velocity indicator, feet per minute.

442 50:0013248 A0 ¥k &0 5

( B )315 Which section of a turbine engine provides air for the pressurization and
air-conditioning systems?
(A) Intake. (B)Compressor. (C) Combustion.

B4 A8 50:0013249 20 s 20 5
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( B )316 The air-cycle cooling system produces cold air by
(A) passing heated air through a compressor. (B)passing air through an expansion
turbine and extracting heat energy. (C)passing air through cooling coils that
contain a volume of refrigerant.

4o 82%0:0013250 A0 2% B %
( A )317 What is the purpose of an electrical relay?
(A)Controls remote, high current equipment items with a small switch. (B)
Prevents static buildup by connecting shock mounted equipment to ground.
(C)Engages starter gears, moves locking pins or other mechanical control
devices.

R4e48%.:00132501 #2e:0 ¥k B %
( B )318 What is the name for the visible discharge of static electricity from the airplane
into the air?
(A)Corona threshold. (B)Saint Elmo’s fire. (C)Precipitation static.

4o 88%.:0013252 220 ¥k B %
( ¢ )319 If the airplane is equipped with a battery rated to deliver 45 amperes for 2.5

hours, what is the ampere-hour rating?
(A)90. 0 ampere-hour. (B)18.0 ampere-hour. (C)112.5 ampere-hour.

o he38550:0013203 a0 5 B 4
( ¢ )320 Aircraft fuse capacities are rated in
(A)volts. (B)watts. (C)amperes.

f4o88%.:0013204 250 ¥k B %
( A )32l In aircraft electrical systems, automatic reset circuit breakers
(A)are not used as circuit protective devices. (B)are used in all circuits
essential to safe operation of the aircraft. (C) are found in locations where
only temporary overloads are encountered.

F 4 %8%55:0013255 4.0 ¥4 R %
( A )322 What 1s an electrical relay?
(A)A magnetically operated switch. (B)A device used to increase, or step-up
voltage. (C)A conductor which receives electrical energy and passes it on with
little or no resistance.

B4e385.:0013256 2820 2% &0 5
( B )323 How are electrical generators rated?
(A)Watts at rated voltage. (B)Amperes at rated voltage. (C) Voltage at rated
amperes.
B4 4855:0013257 420 ¥4 R %
( B )324 What unit of power is used in dc electrical circuits?
(A)Volts. (B) Watts. (C)Amperes.

B4e4250:0013258 A0 sk & 5
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( A )325 Which is a purpose of a transformer rectifier?
(A) Converts 115 volts ac, 400-Hz to 28 volts dc. (B)Changes dc to alternating

26 volts or 115 volts, 400-Hz power. (C)Operates emergency flight instruments
and radios from the airplane battery.

B 4-38%50:0013259 A2 0 ¥k A %

( ¢ )326 What is the approximate nominal voltage rating of a fully charged nickel-cadmium
battery containing twenty cells?

(A) 12 volts. (B) 20 volts. (C)25 volts.

4o 88%.:0013260 %820 ¥ % B %
( B )327 What speed does a frequency meter give a direct indication of?
(A) Engine N(2). (B) Generator RPM. (C)CSD input speed.
4o 88%.:0013261 %5 e:0 ¥ % B %
( ¢ )328 How are airplane ac generators rated?
(A) Volts. (B)Kilowatts (KW). (C)Kilovolt-amps (KVA).
4o 88%.:0013262 %20 $p% B %
( ¢ )329 The purpose of a reverse-current relay is to
(A)prevent one generator from driving another generator. (B) increase or

decrease the voltage of a generator so it carries its share. (C)disconnect the
generator from the main bus when generator voltage drops below battery voltage.

B4 A2 50:0013263 A0 s 20 5

( B )330 What is the nominal voltage rating of a fully charged lead-acid battery
containing six cells?

(A) 6 volts. (B) 12 volts. (C)24 volts.

B b 82%5.:0013264 2220 ¥p5 R 4
( A )33l The purpose of fusible plugs in the wheel is to prevent

(A)tire blowout. (B)overservicing the tire. (C)damage to the tire resulting from
heat expansion.

B 442 50:0013265 A0 ¥k &0 5

( B )332 What tread wear will occur if tires are under—inflated?

(A)Uniform wear at a fast rate. (B)Tread worn away more on the shoulders than

in the center. (C)Accelerated centerline wear while leaving rubber on the
shoulder.

B 442 50:0013266 250 ¥k & 5
( ¢ )333 What tread wear will occur if tires are over-inflated?

(A)Uniform wear at a slow rate. (B)Tread worn away more on the shoulders than
in the center. (C)Accelerated centerline wear while leaving rubber on the

shoulder.
Fhe38550:0013267 BE w0 ¥ 5 B4

( ¢ )334 Which of the following are considered primary flight controls?
(AM)Tabs. (B)Flaps. (C)Outboard ailerons.
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B 442 50:0013268 A0 ¥ &0 5
( B )33 Which of the following is considered a secondary flight control?
(A)Rudder. (B)Servo tab. (C)Inboard aileron.

F4e82%0:0013269 A0 ¥k B %
( ¢ )336 Which direction from the primary control surface does an elevator adjustable
trim tab move when the control surface is moved?
(A)Same direction. (B) Opposite direction. (C)Remains fixed for all positions.

B4 4855:0013270 4220 ¥4 R %

( A )337 What direction should the ailerons move when the control wheel is moved?
(A)Left aileron down when the control wheel is moved right. (B) Right aileron
up when the control wheel is moved left. (C)Left aileron down when the control
wheel is moved left.

B 4o 4855:0013271 4200 ¥4 R %
( A )338 A purpose of leading edge flaps is to
(A) increase the camber of the wing. (B) reduce lift without increasing airspeed.
(C) direct airflow over the top of the wing at high angles of attack.

b BE5:0013272 20 ¥p5 RS
(B )339 A purpose of flight spoilers is to
(A) increase the camber of the wing. (B)reduce 1ift without increasing airspeed.
(C) direct airflow over the top of the wing at high angles of attack.
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( A )340 A purpose of ground spoilers is to
(AM)reduce the wing' s 1ift upon landing. (B) aid in rolling an airplane into a
turn. (C)increase the rate of descent without gaining airspeed.
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( ¢ )341 An advantage of a stabilizer and elevator located at the top of the vertical
fin is that
(A) the structural weight is decreased. (B) the cruise speed is more fuel
efficient. (C)the horizontal tail is above the wing turbulence.

R4 48%.:0013270 R0 ¥k B %
( B )342 What action should be taken if a hydraulic stationary connection has a static
leak?
(A)Reduce the accumulator pressure. (B)Notify maintenance to repair it.
(C)Pressurize the system and perform an operational check.

B 442 50:0013276 Ag e 0 2k & 5
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( ¢ )343 What action should be taken in case of eye contact with any hydraulic fluid?
(AM)Apply an aesthetic eye dressing. (B)Flush thoroughly with soap and water.
(C)Flush with water and consult a doctor.

4o B8%0:0013277 R w0 % B %
( B )344 What should be used to remove Skydrol from your skin?
(A)Solvent. (B)Soap and water. (C)Trichlorethylene.

R4e485:0013278 fE w0 ¥ R %
( A )345 What type of gas may be used to service hydraulic accumulators?
(A)Nitrogen. (B)Dry oxygen. (C)Carbon dioxide.

4385500013279 BE w0 ¥ 5 B 4
( ¢ )346 Which principle operates a hydraulic fuse?
(A)Heat. (B) Electrical. (C)Differential pressure.
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( B )347 The purpose of pressurizing a hydraulic reservoir is to
(A)provide an alternate source of pressure in case of a hydraulic pump failure.
(B)assure a positive feed of foam free fluid to the hydraulic pump at high
altitudes. (C) insure an adequate supply of fluid to the hydraulic pump inlet
during negative-G flight.
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( ¢ )348 Why should hydraulic fluid be filtered?
(AMWater in the fluid could freeze. (B) It assures a positive feed of foam free
fluid to the hydraulic pump inlet. (C)Contaminants may damage the seals and
cylinder walls causing internal leakage.

o 4o82%.:0013282 A0 2% B %
( A )349 Moisture in a pneumatic system may cause
(A)corrosion. (B) a variety of sounds including banging, squealing and
chattering. (C)return lines to freeze when the pressure of the air drops during
actuation.
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( A )350 What type of gas i1s normally used to service the air-storage bottles of an

emergency pneumatic system?
(A) Nitrogen. (B)Dry oxygen. (C)Carbon dioxide.

f4e88%50:0013284 2.0 ¥k B %
( ¢ )31 What safety device is actuated by the compression and extension of a landing

gear strut?
(A) Uplock switch. (B)Downlock switch. (C)Ground safety switch.

B b B2550:0013285 420 ¥5 2%
( A )352 The purpose of fusible plugs in aircraft wheels is to
(A)prevent tire blowouts. (B) quickly deflate tires for repair. (C)protect the
antiskid electrical system.
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